SH47

BACKREST

SH47

BACKREST

® -
O
/

552¥

# Piece Quantity
1 TC Backrest 1
2 Clip Nut TNT-M5-1 2
3 Screw M5x16 DIN965 2
4 Plastic Washer 2

PHILLIPS PH3 A PHILLIPS PH3

# Piece Quantity
1 TC Backrest 1
2 Clip Nut TNT-M5-1 2
3 Screw M5x16 DIN965 2
4 Plastic Washer 2

SHAD | | SHAD |-
Pol. e Pol. Ind. Cat I
081 . Fax: 0034 935 796 945 08100 MOLI
|

WWW.SHAD.ES BA AIN ioshades WWW.SHAD.ES

Code: 502040 - EDO1 Code: 502040 - EDO1



